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(a)Organizational variables (b) Control variables (c)Culture variables  (d) None of them
17. IS allows company to implement ..........

(a)Business strategy. (b) Organization strategy. (c) IS strategy. (d) None of them.
18.  Which of them the components of business diamond?

(a) People (b) Cudtural variables. (c)Control variables.  (d) None of them.
19.  Organizational, cultural and control variables are the key idea of ................

(a) Business process. (b)Managerial levels  (c)Business diamond.  (d) None of them.
20. Managerial Levers suggest that successful execution of ............ comprises the best

combination of organization, control and cultural.

(a) Organizational (b) Informational (c)Business (d) None of them.

strategy: strategy. , strategy.

Q2) Define and explain the Information Systems Strategy Triangle? (5 Points)
Q3) Explain the information system strategy matrix? (5 Points)

Q4) Write a definition for the following terms: Strategy, Information resources, IT asset, IT capability,
Service Level Agreements. (5 points)

Q5) Explain how information resources are used strategically in context of the 5-forces model. (5 Points)
Q6) Draw the Soufcing Decision Cycle Framework Diagram? (3 Points)

Q7) Explain the differences between insourcing and outsourcing, inshoring and offshoring,
and nearshoring and farshoring? (6 Points)
/

Q8) Define and explam Cloud Computing? Cloud Computmg Optlonsr> and Clouds Characteristics?
(7 Points)

Q9) List and define PAPA and why it is important? (4 Points)

With My Best Wishes
DR. Ahmed Elashry
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Department of Computer Science

{30 Marks)

(I) Chose the correct answer for the following sentences, write only the choice: (15 Marks)

(1) In a dark image, the components of histogram are concentrated on which side of
the grey scale?
(a) Evenly distributed (b) High (c) Low (d)yMedium
(2) The subtraction operation results in areas that appear as dark shades of gray.
Why? - Because the difference in such areasis ............
(b) high, that yields (c) negative, that yields  {d) Nothing
high value high value

(a) little, that yields
low value
(3) In neighborhood operations working is being done with the value of image pixel in
the neighborhood and the corresponding value of a sub-image that has same
dimension as neighborhood. The sub-image is referred as ........

(a) Filter (b) Mask (¢} (a) and (b)
(4) The response for linear spatial filtering is given by the relationship ...........

{2) Sum of filter (b) Difference of filter {c)(a) and (b)  (d)Nothing
coefficient’s product and  coefficient’s product and
cotresponding image corresponding image
pixel under filter mask pixel under filter mask

(d)Nothing

(5) In linear spatial filtering, what is the pixel of the image under mask corresponding
to the mask coefficient w (1, -1), assuming a 3x3 mask?

(@) fix+1,y) ®) fy-1) ©f(x+1,y-1)
{6) ............ is/are used as basic function in nonlinear filter for noise reduction.
(¢)(a)and (b) (d)Nothing

(d)Nothing

(a) Computation of (b) Computation of
variance median

(7) In neighborhood operation for spatial filtering if a square mask of size n*n is used
it is restricted that the center of mask must be at a distance > (n — 1)/2 pixels from
border of image. The resultant image wili be .........

(c) a little smaller size (d)Nothing

than original image

(b) a little larger size
than original image

(a) same size as
original image

(8) In MatLab the instruction imshow(X>T1 & X<T2) used in ......... .

{a) Double (b) Single (c) Double thresholding
e thresholding and thresholding and and pixels become
pixels become black  pixels become black white

(d)Nothing

__(9) We use Band reject Filtering to Remove the following Noise .

(a) Salt & Pepper noise  (b) Speckle noise (c)(a) and (b)

(d)Nothing

Final Exam of
Image Processing (CS$352)
201872019 (Second Term)
Date: 26/5/2019

sheilth University
Faculty of Computers and Information
Department of Computer Science

(10} If we have 256x256 Binary image, the size of this image is equal to .............
(a) 0.0078 MB (b) 0.076 MB (c)8 MB (d)yNothing
(11) The code of Histegram Stretching which does nothing on the image is ...... .
(a) Imadjust(im, [ 1,[1,0])  (b) Imadjust(im, [ ], [0.-1])  (c)(a) or () (d)Nothing
(12) The code of Histogram Stretching which produces a negative of image is ...... .
(a) Imadjust(im, { ], [1,0])  (b) Imadjust(im, [ ], [0,-1])  (c)(a)or(b)  (d)Nothing
(13) Which of the following method is/are used for padding the image ?

(©)(a@)or(b)  (d)Nothing

{b) Simply replicating the
rows or columns of the

original image

(a) Adding rows and
colurmn of 0 or other
constant gray level

(14) In .. .. image we notice that the components of fuistogram are concentrated on
the high side on intensity scale.

(a) Dark (b) Bright

(15) An OQutlier metiiod is approach for removing the following Noise ...... .
(d)Nothing

{¢) Contrast (d)Nothing

{(a) Salt & Pepper noise (b) Speckle noise (¢) Periodic noise

(11) Put mmmzzv at correct and sign(X) at wrong with correction the wrong: (15 Marks}

(1)Image Restoration refers to the operation of partitioning an image into component parts, or
into separate objects.

(2) Double Thresholding is a vital part to isolate objects from the background, can be done very
simply in MatLab by X>T.

(3)Median Filter can be implemented by multiplying all elements in the mask by corresponding
elements in the neighborhood, and adding up all these products.

(4)Neighborhood is a graph indicating the number of times each grey level occurs in the image,
also it introduces a great deal about the appearance of an image.

(5)"axis" is a command ensures the axes of a graph are automatically scaled to fit all the values.

(6) Roberts Filter is the best filter from the three filters for edge detection in image processing.

(7)Image Noise concerns the removal or reduction of degradations which have occurred duri
the acquisition of the image.

(8) The complement of a greyscale image is its photographic negative and computed by m™.

(9)The code immuitiply(b,0.5); produces lightening of an image, and imsubtract(b,128);
produces darkening of an image.

(10)If the grey values are all clustered together in the center of the histogram, this image to be
good contrasted.
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Answer the following sub-questions as required : (20 Marks)

(1) Write the steps of an Outlier Method for removing the Noise from images?

(2) Explain LUT for image's points processing, illustrate with example of LUT corresponding
to division by 2, with write the code of this example by MatLab.

(3) Suppose we have an image with the histogram shown in following table of the numbers n;
of grey values:

Greyleveld 0 1 2 3 4 5 6 78 9 10 11 12 13 14 15
n 1500 00 000 0 70 110 45 80 40 0O 0.
- Describe viewing of the image which has the previous histogram distribution.
- Use the Histogram Equalization Method to equalize this histogram: Write its Math, Equation,
Draw the graph of current histogram, Write with table the steps of Equalization method and

product new values for new histogram, and. Draw the graph for the produced histogram.

e Write Code by MatLab to : Read the not good contrasted image "pout.tif™, Apply Histogram
Equalization Method on this image, and View the original image, the produced image and the
histogram of the new image in one figure with the axes of a graph are automatically scaled to

fit all the values in.

Write the Code by MatLab for the following : (10 Marks)

(1) Read the image twinz.¢if in MatLab, and apply each of the following Edge finding
techniques in turn: (a) Roberts  (b) Prewitt (c) Sobel

and then display all results for them into one figure.

(2) Read the color image cameraman.tif’ in MatLab, and produce a grey sab-image from at .
30:285 as height and from at 60:315 as width . After that, Do the following:
Add 10% salt & pepper noise to the image. And then , attempt to remove the noise with
(a) Average Filtering , (b) Median Filtering ,

and then display all results for them into one figure.

With best wtslzes wztlz suceess;

OSW
Dr. Osama M. Abu Zaid
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(33 Marks)

(1) Chose the correct answer for the following seatences, write only the cloice: (15 Marks)

(1)The number of pixels stored in the frame buffer of a graphics system is known as ...

(a) Depth (b) Resolution (¢)(2) and (b) (d)Nothing
(2) The devices which converts the electrical energy into light is called ........
(a) Liquid-crystal (b) Emissive displays  (c) Plasma panels (d) Nothing
displays
(3) The primary output device in a graphics system is .............

(a) Scanner (b) Video monitor (d)All of them
(4) On a black and white system with one bit per pixel, the frame buffer is commonly

(c) Printer

called as .

(a) Pix map (b) Multi map (¢) Bit map (d)All of them
(5) Aspect ratio means .

(a) Number of pixels (b} Ratio of horizontal (c)(a) and (b) (d)Nothing

points to vertical points

(6) 2D-Translation is applied to an object by repositioning it along with ............

(a) Circular path (b) Straight line path (¢)(a) and (b) (d)Nothing
(7) In 2D-translation, a point (x, y) can move to the new position (x', y) by using the

equation

(a) x'=x+dx and (b) x"=x+dx and (¢) x"=x-dx and (d) (b) or (c)

y=y+dx y'=y+dy y'=y-dy

(8) The transformation that is/are used to alter the size of an object is ...........

(a) Rotation (b) Translation (c)(a) and (b) (d)Nothing

(9) Scaling of a polygon is done by computing .............

(a) (x, y) of end points  (b) Product of (x, y) of  (¢) Center coordinates  (d)Nothing
each vertex

(10) Which vertex of the polygon is clipped first in polygon clipping? ...

(a) Top right (b) Bottom right (¢) Bottom left (d)Top right
(11) How many methods of text clipping are there? ....
(a) 5 methods (b) 4 methods {c) 3 methods (d)Nothing

(12) Which of the following represents shearing? .
(@) (X, y) > (x+a,y+b) () (x,y) — (x+ay, y+bx) () (x, ) — (ax, by) (d)Nothing

Final Exam of
Computer Giraphics (CS351)
2018/2019 (Second Tenm)
Date: 29/5/2019

Kafrelsheikh University
Faculty of Computers and nformation
Department of Computer Science

(13) Positive values for the rotation angle © defines ...........

(c) Clockwise
rotations about

(a) Counterclockwise (d)Nothing

translation about the

(b) Counterclockwise
rotations about the pivot

pivot point point the pivot point
(14) .......... is one of transformations which tilt the objects to horizontal towards left
or right or to vertical towards up or down.
(a) Rotation (b) Scaling (¢) Shearing (d)Nothing
(15) ......... is like dragging a pen along the shape (such as Line, Rectangle) and draw
this shape.
(a) Filling (b) Stroking (¢)(a) and (b) (d)Nothing

(I1) Put sien(Y) at correct and sign(x) at wrong with correction the wrong: (18 Marks)
(1) The process of mapping a world window in World Coordinates to the Viewport is

called Viewing transformation.
(2) 1f the Scaling transformation factor § is less than 1, then the size of object is shrinks.
(3) To generate a Rotation , we must specify rotation angle O and distances dx and dy.
(4) A 2D-Rotation is applied to an object by repositioning it along with straight line path.
(5) Anti-aliasing is the distortion of information due to low-frequency sampling.

(6) Hue is in HSV and HSL models, and is taken to range from 0 to |, if 0 gives a shade of

gray, but if 1 gives a pure color.
(7) Depth buffer is used to store the intensity value of color value at each position (x, ).
(8) The Y-Shear preserves the Y-coordinate and changes are made to X-coordinates.
(9) In OpenGL, the code Vertex3f(0.3,0.2); used to build vertex of triangle at 0.2,0.3.
(10) Rectangle is a shape which has aspect ratio equal to 1.
(11) In OpenGL, the code Color2f(1,1,0); used to draw in full-intensity blue color.

(12) Circle is a closed curve that has two radii, these radii are vertical and horizontal, it

can be specified by giving the rectangle that just contains it.
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Answer the following sub-questions as required at each of them: (15 marks)

(1) Write the two algorithms which used to draw circle shape, with the steps of one of them.
(2) Write with drawing about Text Clipping and its three methods.
(3) Prove the following mathematical representation for Rotation in case positive angle .

' ’ cosB sind
[X 4 ]: i ¥ [—sine cose]

After that, deduce it in case negative angle.

(4) Draw hierarchical graph of scene for the following Complex Scene:

Write the Code for the following : (12 marks)
(a) Write C# Code to draw oval in red color, (b) Suppose that we want a path that represents the
and rotate it by angle 30 with change the triangle with vertices at (100, 100), (300, 100), and
color to be blue color, such as (200, 200).

the following figure:

Write the commands of path which can draw that

RO

triangle.

(c) Using OpenGL to draw an outline of polygon
which illustrated as GL_LINE_LOOP.

GL_LINE_LOOP

With best wishes with success;
2W\A

0Suo__cmA >
Dr. Osama M. Abu Zaid
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Answer the following questions with short Notes as Possible
Question 1 [ Marks]

A. Compute the system utilization:

Subject: Operating
System

Time allowed: 3 Hours
Pages: 2 Pages

Date: - /512019

If the time to read one record from file 6 Sec
The time to execute the instructions in thig record 3 Sec

The time to write the result record to file 6 sec

C. Consider a hypothetical microprocessor generating a 16-bit address (for example, assume
that the program counter and the address registers are 16-bits wide) and having a 16-bjt

data bus.
1. What is the maximum memory address space that the Processor can access directly
if it is connected to g “1 6-bit memory”?

2. What is the maximum memory address space that the processor can access directly
if it connected to an “8-bjt memory™?
D. List five storage management responsibilities of a typical 039

-E. Give three examples of an internal interrupt and three examples of an external interrupt?

Question 2 [ Marks]
A. Which algorithm from (FCFS, Highest Response Ratio First and multi-level feedback

queue with 2 level, multi-leve] feedback queue 2 with 4 level) that gives a minimum
average waiting time and which one gives a minimum average response time

Job # 1 2 3 4 5
Arrival time 2 q 6 8 10
Service time 3 6 4 5 2

Note "you should draw the chart for each algorithm”

- Page 1 of2 -
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Question 3 [ Marks]

A. Draw the five states process model diagram.
B. Draw the block diagram of basic instruction cycle with interrupt.

C. Provide two programming examples in which multithréading provides better
performance than a single-threaded solution.

Question 4 [ Marks]

A. Consider a simple paging system with the following parameters: 232 bytes of
physical memory; page size of 2'° bytes; 26 pages of logical address space.
a. How many bits are in a logical address?
b. How many bytes in a frame?
¢. How many bits in the physical address specify the frame?
d. How many entries in the page table?
e. How many bits in each page table entry? Assume each page table entry
contains a valid/invalid bit.

B. Consider the following figure

[7] Atocated biock

[ Eree block
¥ 1§ % f83 ¥ 3

allocated
block {14M)

Last

Shows the difference between the best-fit, first-fit, worst-fit and next-fit
placement algorithms in satisfying a 5-Mbyte allocation request.

C. What are three contexts in which concurrency arises?

With best wishes Dr: Medhat A. Tawfik

Page 2 of 2
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Answer the following questions

Questionl: (5 points)
Choose the correct answer:
1. Which search algorithm uses the problem specific knowledge beyond the definition

of the problem?
(a) Breadth-first search  (b)Depth-first search  (c) Uniformed search  (d) Informed search

Die e v sabuianmse environment is the environment that can change while agent is
deliberating.

(a) Static (b) Semi-dynamic (¢) Dynamic (d)Multi-agent

3. Which of the following algorithm is generally used CSP search algorithm?

(a) Breadth-first search (b)Depth-first search (c) A* search (d)None of the
above

4. Any sentence is valid if it is .....connnenninnens

(a)true for all models  (b)true for some (c) false for all (d) false for some

models models models ’
5. The term .c.c.ovevevnennee defines the truth of each sentence in each possible world.
(a) Syntax (b)semantics (c) logic (d)entailment

Question2: (10 points)

Mark the following sentences with True or False and correct the false ones:

|- Breadth first search is an optimal algorithm. (
2- A chess playing agent operates in an episodic task environment. (
3- The Turing test evaluates a computer system's ability to think rationally. (
4- Breadth first search saves more memory than Depth first search. (

(

5. In a stochastic environment the next state is completely determined by the agent's

[ N - )

action.

Question3:

"Backgammon" is one of the oldest board games for two players.

(5 points)

The playing pieces are moved according to the roll of dice, and a

player wins by removing all of their pieces from the board before

their opponent. Determine three characteristics for this environment.

(el b Rt AL
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Question4: (5 points)

You are a map-coloring robot assigned to color

this map of part of Australia, a map showing »‘ et
seven countries and how they border on each - '\ Tenitors ’ Ousenshund
other. Adjacent regions must be colored a Sasem el o
different color (R=Red, B=Blue, Y=Yellow). ; R
Formulate the CSP, and sketch the constraint ) k
graph.

Tasmania *
Question3: (35 points)

1. Use resolution algorithm to prove that KB |= a where,

KB = (Bm e (P lel)) —ABu1 » G="Py

2. Define a predicate reverse(L,K) which holds if and only if the list K is the reverse of

the list L.

3. Define the following terms: PEAS — Rational agent — Autonomy — Turing test

- 4. what the difference between: Simple and model-based reflex agent.

5. In the following map the distances between nodes are showed over the arcs.

Orndeu

Newt

Vaslut

Timisomra

\\\
111 fugod
NMehadian B Gimiceni Hnsg
1ucharest
Drobeta 120
R 20
Craova Harsin Lforic
The estimated distances between every Arad 340 Mchadia 170
R . . ) Bucharest 190 Neamt 540
node and node "Craiova" is given. Find Crajova o Oradea 380
. Drobeta 120 Pitesti 138
the path between Arad and Crailova Eforie 570 Rimmicu Vilcea 146
(using Breadth-first and A* search). Fagaras 210 Sibiu 215
Giurgiu 150  Timisoara 310
Hirsova 390 Urziceni 280
fasi 500 Vasiui 450
Lugoj s00 Zerind 350

ALl gl
(3l S o
D Diana Thauvat Mesa
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(33 Marks)
(I) Chose the correct answer for the following sentences. write only the choice: (15Marks)

(1)The non- Kleene Star operation accepts the following string of finite length over set
A = {0,1} | where string s contains even number of 0 and 1

(a) 01,0011,010101 (b) 0011,11001100 (©)&,0011,11001100 (d)Nothing

(2) A regular language over an alphabet 3 is one that cannot be obtained from the
basic languages using the operation .

(a) Union (b) Concatenation (0 intersection (d) All of them

(3) The minimum number of states required to recognize an octal number divisible by
3 arefis ...
@1 (b) 3 95 (@7
(4) Which of the following is a not a part of S-tuple finite automata?
(b) Transition function () Initial State

(5) The number of elements in the set for the Language L={xe(¥)*|length if x is at
most 2} and Y={0,1} is ......

(a) Input alphabet {d)Output Alphabet

@7 (b) 6 ©8 @5
(6) the Transition function maps in any FA is defined a5 ......

@IxQ>T B QxQ->% (QEXE>Q  (@QxE->Q
(7) Minimum Number of states in FA require to accept string ends with 10 is.......

@3 (b) 2 (91 (d) Nothing
(8) Finite automata (FA) requires minimuim ......... number of stacks.

(@1 (b) 0 2 (d)Nothing
(9) The Language of finite automata FA is a language of ........

(a) Type O (b) Type 1 (¢) Type 2 {d)Type 3
(10) Regular expression for all strings starts with ab and ends with bba is.......

(a) aba*b*bba (b) ab(ab)*bba () ab(a-+b)*bba (d) All of them

(11) The number of leaves in the respective parse tree with expression E*(E) where *
and () are operators are ..... .

@5 (b2 (94 @3
(22) NFA, in its name has *non-deterministic’ because of ............

Amv “The result is (b) The state to be transited () The choice of path  (d)Nothing
; undetermined next is non-deterministic is non-deterministic

rinal ikxam or
Automata and Language Theory (C5342)
2018/2019 (Second Term)
Date: 12/6/2019
Time : 3hrs

MaIreisneIkn UNIversiy
Faculty of Computers and Information
Department of Computer Science

(13) A CEG is ambiguous if ....c.ceuvnvnen

(a)It has more than one (b) No parse tree can be  (¢) (a) and (b) (d)Nothing
leftmost derivations generated for the CFG
(14) The most suitable data structure used to represent the derivations in compiler:
(a) Queue (b) Linked List (¢) Hash Tables {(d)Tree

(15) It is a way to implement a context-free grammar in a similar way we design DFA
for a regular grammar, it is represents ' Finite state machine " + "a stack "

(a) Turing Machine (b) Pushdown Automata (9 (a) and (b) (d)Nothing

() Put sign(V) at correct and sign(x) at wrong with correction the wrong: (18 Marks)

(1) The Statement of grammar: R >R |T, T->¢ isan ambiguous grammar.

(2) Yield of a Tree is the final string obtained by concatenating the labels of the leaves of
the tree from left to right, ignoring the Nulls.

(3) DFA minimizing can be obtained by swapping its accepting states with its non-

accepting states and vice versa for a DFA that accepts a language L.

(4) Type-2grammars has a single non-terminal on the Jeft-hand side, and a right-hand side

consisting of a single terminal or single terminal followed by a single non-terminal.
(5) A partial derivation tree is called parallel form if this tree contains the root S.
(6) The regular expression (0+1)(1+ €) produces a regular set L= {0, 1}.

(7) The RE 1(111)* produces set consisting of strings of all possible lengths of 1’s
including empty string.
(8) The RE (aa)*(bb)*b produces set of strings consisting of even number of a’s followed

by even number of b’s including empty string.

©) IfaCFGis: X — X+X | X*X [X]a over an alphabet {a}, The rightmost derivation

for the string "a+a*a" is X — X+X— a+X— a+ X*X — at+a*X — ata*a.
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) Answer the following sub-guestions as required at each of them: (12 Marks)

(1) Write about Pumping Lemma Theorem and Steps of its Method to prove that a language L is
Not Regular.

(2) Using Pumping Lemma Theorem to Prove that I, = {a'p’ | 1 >0} is not regular.

| Answer the following questions as required in each of them: (15 Marks) "

(a) Convert the following NDFA to DFA

(b) Find DFA which accepts the Strings &, 001, and 000101 .

(¢) Use Myphill-Nerode Theorem to Minimize the following DFA.

3
/ e \'\\
N e T—
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N e \
# o L a 4
% y O RIS \
../\&:__/ T Y 4
[ = NEI i - . e=n
s a e :D—"——,(o\;
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\ Yt/ //
\\, b L

With best wishes with success;
o<, 27 /5

Dr. Osama M. Abu Zaid
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Date: 22/5/2019 Time: 180 minutes
Question number one: (30 Marks)

a. Mention the factors that afford the capability to calculate routes for each of

the following protocol: (10 Marks)
| RIP, R | IGRP, [ EIGRP, | BGP, |
b. Specify the role of: (5 Marks)

AAL (ATM Adaptation Layer) Dual-ring in FDDI | OC and STS in SONEH

¢. What is the subnet mask would you use for the 172.31.0.0 network, such
that you can get 10 subnets? (5 Marks)

d. You have been allocated a class ¢ network address of 192.168.10.0. You
need to create at least 8 Subnets. Calculate Network ID, first valid IP, last
valid IP, and Broadcast Address of the first two subnets. (5 Marks)

e. What is the Wildcard Mask for the following IP address 172.16.1.07 ¢ Marks)

Question number two: (30 Marks)
a. Choose the correct Answer ;

1) Facilitates prioritization of data, voice, and video transmissions:
a. QoS | b. Best-effort delivery | c. Network Performance, | d. a&c | e. all true

2) Is a packet-switching protocol, its concern is not with the way packets are
routed from switch to switch between networks, but with defining the
means by which sending and receiving computers:

a. X.25 b. Frame relay | c. SONET [d. ATM e. FDDI f. all true

3} Covers the link access protocol, LAPB (Link Access Protocol, Balanced),
that defines how packets are framed:

F X.25 b. Frame relay | c. SONET |d. ATM e. FDDI f. all true

4) Is a less cumbersome form of packet switching, take advantage of newer digital
transmission capabilities, which offer reliability and lowered error rates:
a. X.25 b. Frame relay | c. SONET |d. ATM e. FDDI f. all true

5) Operates over Permanent Virtual Circuits (PVCs), transmissions follow a
known path and there is no need for the transmitting devices to figure out
which route is best to use at a particular time:
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a. X.25 b. Framerelay | c. SONET | d. ATM e. FDDI f. all true

6) Designed to be convenient for hardware implementation, and software
controlled therefore, cost is higher compared to others:

a.X.25 | b. Frame relay ¢. SONET d. ATM e. FDDI f. all true

7) Developed to support and help extend the capabilities of older LANS, ,
and to provide a reliable infrastructure for businesses moving even
mission-critical applications to networks:

a.X.25 | b. Frame relay c. SONET d. AT™M e. FDDI f. all true

8) Supports different types of cables i.e Single mode, Multimode:

a.X.25 | b. Frame relay c. SONET d. ATM e, FDDI f. all true

9) The difference in delivery times is known as:

a.Delay | b. Jitter | c. Dropped packets | d.Out of delivery | e. Security | £.Billing

10) Packet delivery over the Internet is unpredictable because of different
paths between endpoints and congestion at a router in the path with a
long queue:

a.Delay | b.Jitter | c. Dropped packets | d.Out of delivery | e. Security | £.Billing

11) If the buffers of path between sender and receiver already full before the
packet arrived, this causes:

a.Delay | b. Jitter | ¢. Dropped packets | d.Out of delivery | e. Security | £.Billing

12) Having no .control over how packets routed on different routes,
dependent on the delays on those routes, this known as:

a.Delay | b.Jitter | c. Dropped packets | d.Out of delivery | e.Security | f.Billing

13) Uses an additive metric, i.e. the links of a path are concatenated, for
calculation of the whole path:

aDelay | b. Billing | c.hop | d.Security | e. a&bé&c | f. a&ckd | g all true
count

14) Which metric, follow a binary composition rule. That is the metric values
are true (or 1), or false (or 0):
aDelay | b. Billing | c.hop | d.Security | e. a&bé&ec | f. a&c&kd | g alltrue
count

15)Is concave metric, i.e. when the links of a path are concatenated; the
minimal determines the availability of the whole path:

aMTU |b.Throughput | c.BW | d.CP |e. a&b&c |f a&kc&d | g alltrue

Best Regards

Dr/ Mai R, I6rah
1 iR, Torabeem Page 2 0f 2




image3.jpeg
Wafrelsheikh University
Faculty of Computers and Information
Department of Computer Science

S\ o orle

Final Exam of By s

Strategy, management and acquisition of ISs
2018/2019 (second Term) .

Date: 26 /5/2019 - Time:3hrs

QI) Choose the correct answer(s): (20 points)

Ly e is a clear and compelling statement that unifies organization effort
(a) Session (b) Vision (c) Mission (d) None of the above,
P is a coordinated set of actions to fulfill objectives purpose goals
(a) Strategy (b)Business strategy. (c) Organizational Strategy (d) Information Strategy
3o smsrivmes plan articulating where business seeks to 20 and how it expects to get there.
(a) Strategy  (b)Business strategy.  (c) Organizational Strategy  (d) Information Strategy
4. ......result when the organization aims to be the lowest-cost producer in the mark place.
(a) cost leadership (b)Differentiation (c) Focus (d)None of the above.
5. Through ............ the organization qualifies its product or service in a way that allows it to
appear unique.
(a) cost leadership (b)Differentiation  (c) Focus (d) None of the above.
6. ... allow an organization to limit its Scope to a narrower segment of the market and tailor
(2) cost leadership (b)Differentiation  (c) Focus (d) None of the above.
7o Model suggest that the speed of the moves and counter moves in any given market
create an environment .
(a) Competitive (b) Hyper competitive (c)Hyper model (d) None of the above
model model
S — Strategy to find fresh ways to reach new customers and better service
(a) DYB (b) BYB (©)GYB (d)None of them
9. thekeyideaof.............. firms achieve competitive advantage through cost leadership
differentiation or focus.
(a) Porters generic (b) Business (c) Dynamic (d)None of them
strategies strateg; environment strategies
10.  the keyideaof ............... » speed, agility and counter move by firm create competitive
(a) Porters generic (b) Business (c) Dynamic (d)None of them
strategies strategy environment strategies

1. Using social IT to extend the reach of stakeholders, both employees and those who outside the
enterprise walls

(a) Collaboration (b)Innovation (c) Engagement (d) All true.

12, Social network, enable individuals to find and connect with each other to share ideas,
information
(a) Collaboration (b)Innovation (c) Engagement (d) All true.

134 frnmmes includes the organization’s design as well as the choices, it makes to define, setup,
and control its work processes
(a) Business (b)Organizational (c) information (d)none of them
strategy. strategy strategy.

4. ... Suggests that the successful execution of business organization strategy

(a) Managerial Levers (b) Customer levels (¢) Management levels (d) None of them.

15, include decision rights, business, process, formal reporting relationships
Organizational variables.

(a)Organizational variables (b) Control variables (c) Culture variables (d) None of them
A6 capmaan Include availability of data, nature and quality of planning and evaluation system.




